Multiplication et Division par 0,1 (B)

Trouvez chaque produit ou quotient.

1+-0,1= 33+-01=
5,0403 x 0,1 = 3,507 - 0,1 =
57%0,1= 5905 x%x0,1=
9,9x0,1= 1,4+01=

2,1 x0,1= 6,1748 =~ 0,1 =
8,35x0,1= 7,7418 X 0,1 =
3,9151 +0,1 = 51+0,1=
2,45x0,1= 6,1392 %X 0,1 =
3,71 x0,1= 4,633 - 0,1 =
595+0,1= 7,703 - 0,1 =
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Multiplication et Division par 0,1 (B) Solutions

Trouvez chaque produit ou quotient.

1+-0,1=10 3,3+0,1=33

5,0403 x 0,1 =0,50403 3,507 + 0,1 =35,07
57%0,1=0,57 5,905 x 0,1 = 0,5905
9,9 x0,1=0,99 1,4+0,1=14
2,1x0,1=0,21 6,1748 - 0,1 = 61,748
8,35x 0,1 =0,835 7,7418 x 0,1 =0,77418
3,9151 + 0,1 = 39,151 51+0,1=51

2,45 x0,1=0,245 6,1392 x 0,1 =0,61392
3,71x0,1=0,371 4,633 - 0,1 =46,33
595+ 0,1=59,5 7,703 +0,1=77,03
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